|                              | Number of |         | Yield per | Total      | Units of   | Gross Farm   |
|------------------------------|-----------|---------|-----------|------------|------------|--------------|
| Crop                         | Producers | Acres   | Acre      | Production | Measure    | Value        |
| COTTON                       |           |         |           |            |            |              |
| Lint - Irrigated (Total)     |           | 2,348.0 | 850.00    | 1,995,800  | lbs.       | \$898,110    |
| Lint - Non-irrigated (Total) |           | 6,945.0 | 700.00    | 4,861,500  | lbs.       | \$2,187,675  |
| Cotton (Total)               | 25        | 9,293.0 |           |            |            | \$3,085,785  |
| FORESTRY                     |           |         |           |            |            |              |
| Pulpwood                     |           |         |           |            |            |              |
| Pine                         |           |         |           | 124,285    | cords      |              |
| Hardwood                     |           |         |           | 21,640     | cords      |              |
| Pulpwood (Total)             |           |         |           | 145,925    |            |              |
| Chip & Saw (Total)           |           |         |           | 37,875     | cords      |              |
| Saw Timber                   |           |         |           |            |            |              |
| Pine                         |           |         |           | 9,836,136  | board feet |              |
| Hardwood                     |           |         |           | 1,598,543  | board feet |              |
| Saw Timber (Total)           |           |         |           | 11,434,679 |            |              |
| Total Pulpwood, Chip & Saw,  |           |         |           |            |            | \$20,059,335 |
| Saw Timber FOB Mill          |           |         |           |            |            |              |
| Total Forestry Stumpage      |           |         |           |            |            | \$9,469,674  |
| (Total)                      |           |         |           |            |            |              |
| Forestry (Total)             |           |         |           |            |            | \$20,059,335 |
| FRUITS                       |           |         |           |            |            |              |
| Peaches (Total)              | *         | 4.0     | 200.00    | 800        | bu.        | \$32,000     |
| Fruits (Total)               |           | 4.0     |           |            |            | \$32,000     |
| FEED GRAINS                  |           |         |           |            |            |              |
| Corn (Total)                 | 7         | 1,029.0 | 125.00    | 128,625    | bu.        | \$281,689    |
| Grain Sorghum (Total)        | *         | 217.0   | 75.00     | 16,275     | cwt.       | \$58,265     |
| Oats (Total)                 | *         | 114.0   | 50.00     | 5,700      | bu.        | \$10,659     |
| Feed Grains (Total)          |           | 1,360.0 |           |            |            | \$350,612    |
| HAY FOR SALE                 |           |         |           |            |            |              |
| Grass (Total)                | 25        | 1,500.0 | 2.00      | 3,000      | tons       | \$180,000    |
| Hay for Sale (Total)         |           | 1,500.0 |           |            |            | \$180,000    |
| Home Gardens (Total)         | 600       |         |           |            |            | \$156,000    |
|                              |           |         |           |            |            | . ,          |

CALDWELL PARISH

| CALDWELL PARISH              |                | PLANT EN   | TERPRISES  | PRODUCTION        |            |                |              |
|------------------------------|----------------|------------|------------|-------------------|------------|----------------|--------------|
|                              | Number of      |            | Yield per  |                   | Total      | Units of       | Gross Farm   |
| Crop                         | Producers      | Acres      | Acre       |                   | Production | Measure        | Value        |
| PECANS                       |                |            |            |                   |            |                |              |
| Improved (Total)             | *              | 90.0       | 50.00      |                   | 4,500      | lbs.           | \$5,850      |
| Pecans (Total)               |                | 90.0       |            |                   |            |                | \$5,850      |
| Rice (Total)                 | *              | 1,355.0    | 55.00      |                   | 74,525     | cwt.           | \$525,401    |
| Sod Production (Total)       | *              | 125.0      |            |                   |            | acre           | \$750,000    |
| Soybeans (Total)             | 12             | 4,645.0    | 30.00      |                   | 139,350    | bu.            | \$823,559    |
| VEGETABLES                   |                |            |            |                   |            |                |              |
| Tomatoes (Field) (Total)     | *              | 63.0       | 53.00      |                   | 3,339      | lugs (20 lbs.) | \$66,780     |
| Vegetables (Total)           |                | 63.0       |            |                   |            |                | \$66,780     |
| Wheat (Total)                | *              | 63.0       | 53.00      |                   | 3,339      | bu.            | \$10,952     |
| TOTAL ALL PLANT ENTERPI      | RISES          |            |            |                   |            |                | \$26,046,274 |
|                              | FISHER         | IES & WILD | LIFE ENTE  | RPRISES PRODU     | CTION      |                |              |
|                              | Number of      |            | Units of   |                   | Total      | Units of       | Gross Farm   |
| Fisheries                    | Producers      |            | Production |                   | Production | Measure        | Value        |
| Fur Animals (Total)          |                |            |            |                   | 24         | pelts          | \$233        |
| Alligators (Wild) (Total)    |                |            |            |                   | 172        | •              | \$5,175      |
| HUNTING LEASES               |                |            |            |                   |            |                |              |
| Waterfowl (Total)            | 18             |            | 4,000      | No. Acres         |            | acre           | \$200,000    |
| ,                            |                |            | ,          | Leased            |            |                | ,            |
| All Other Game (Total)       | 35             |            | 200,500    | No. Acres         |            | acre           | \$1,403,500  |
| ` ,                          |                |            | ,          | Leased            |            |                | , ,          |
| Hunting Leases (Total)       |                |            |            |                   |            |                | \$1,603,500  |
| TOTAL ALL FISHERIES & WI     | ILDLIFE ENTERP | RISES      |            |                   |            |                | \$1,608,908  |
|                              |                |            | NTERPRISES | <b>PRODUCTION</b> |            |                | , ,          |
|                              | Number of      |            | Units of   |                   | Total      | Units of       | Gross Farm   |
| Animal                       | Producers      |            | Production |                   | Production | Measure        | Value        |
| CATTLE & CALVES              |                |            |            |                   |            |                |              |
|                              |                |            |            |                   |            |                |              |
| Steer Calves                 |                |            |            |                   |            |                |              |
| Steer Calves<br>300-400 lbs. |                |            |            |                   | 430        | head           | \$229,227    |

| CATTLE & CALVES           |     |                    |       |            |             |
|---------------------------|-----|--------------------|-------|------------|-------------|
| 500-600 lbs.              |     |                    | 643   | head       | \$422,506   |
| 600-700 lbs.              |     |                    | 538   | head       | \$396,420   |
| Steer Calves (Total)      |     |                    |       |            | \$1,290,198 |
| Heifer Calves             |     |                    |       |            |             |
| 300-400 lbs.              |     |                    | 325   | head       | \$152,027   |
| 400-500 lbs.              |     |                    | 394   | head       | \$215,544   |
| 500-600 lbs.              |     |                    | 345   | head       | \$213,772   |
| 600-700 lbs.              |     |                    | 305   | head       | \$212,802   |
| Heifer Calves (Total)     |     |                    |       |            | \$794,144   |
| Yearling Cattle           |     |                    |       |            |             |
| 600-700 lbs.              |     |                    | 427   | head       | \$2,637     |
| 700-800 lbs.              |     |                    | 440   | head       | \$2,937     |
| Yearling Cattle (Total)   |     |                    |       |            | \$5,574     |
| Cow-Calf Pairs (Total)    |     |                    | 465   | pair       | \$455,295   |
| Cull Cows (Total)         |     |                    | 480   | head       | \$190,250   |
| Cull Bulls (Total)        |     |                    | 140   | head       | \$129,927   |
| Cattle & Calves (Total)   | 315 | 4,758 No. Cows     |       |            | \$2,865,389 |
| HORSES                    |     |                    |       |            |             |
| Brood Mares               |     |                    |       |            |             |
| Show Horses               | *   | 35 No. Brood Mares | 8     | head       | \$32,000    |
| Recreation Horses         | *   | 35 No. Brood Mares | 28    | head       | \$42,000    |
| Brood Mares (Total)       |     |                    |       |            | \$74,000    |
| Stud Fees                 |     |                    |       |            |             |
| Show Horses               |     | 2 No. Stallions    | 50    | mares bred | \$75,000    |
| Recreation Horses         |     | 10 No. Stallions   | 100   | mares bred | \$50,000    |
| Stud Fees (Total)         |     |                    |       |            | \$125,000   |
| Show Horses (Total)       | *   |                    | 8     | head       | \$40,000    |
| Recreation Horses (Total) | 700 |                    | 1,020 | head       | \$1,530,000 |
| Horses (Total)            |     |                    |       |            | \$1,769,000 |
| GOATS                     |     |                    |       |            |             |
| Slaughter Goats (Total)   |     |                    | 38    | head       | \$4,123     |
| Stocker Goats (Total)     |     |                    | 40    | head       | \$3,460     |
| Cull Goats (Total)        |     |                    | 12    | head       | \$720       |
| Goats (Total)             | 15  | 65 No. Does        |       |            | \$8,303     |
| EXOTIC ANIMALS            |     |                    |       |            |             |

CALDWELL PARISH 85

## CALDWELL PARISH

## ANIMAL ENTERPRISES PRODUCTION

| Animal                 | Number of Producers | Units of<br>Production | Total<br>Production | Units of<br>Measure | Gross Farm<br>Value |
|------------------------|---------------------|------------------------|---------------------|---------------------|---------------------|
| EXOTIC ANIMALS         |                     |                        |                     |                     |                     |
| Llama (Total)          | *                   | 6 No. Animals          | 0                   | head                | \$0                 |
| Exotic Animals (Total) |                     |                        |                     |                     | \$0                 |
| TOTAL ALL ANIMAL EN    | TERPRISES           |                        |                     |                     | \$4,642,692         |

CALDWELL PARISH \$32,297,874